CALCULUS 1I — Worksheet #16

Fmd all absolute and relanve ‘maximums-and minimums for y = 2x3 3x2 - 12x
on [-2,3].

\/(
e

Find all critical points, inflection points, and sketch y = x4 — 4x3.

"\ 3.) Find all intervals where y = x4—4x3 + 4x2 is increasing and decreasing.
‘4, f(x) = x4 — 4x2 has: (A) 1 max, 2 min (B) 1 min, 2 max (C) I min, | max
(D) 2 max, 0 min (E) 2 min, 0 max
i~

\ »5 The number of inflection points of the curve in pmblcm 4 is:
T (A0 B (©)2 (D)3 (B4

( 6. The total number of relative maximum and minimum points of the funcnon whose der ivative is
g ) =x2x+13x-4)3is  (A)0 B)1 (C)2 (D)3 ()4

7. The sum of one number and twice another is 24. Find the two numbers so that thelr product is a
maximum,

8. A square piece of tin has 12 inches on a side. An open box is formed by cutting out equal square pieces at
the corners and bending upward the projecting portions which remain. Find the maximum volume that
can be obtained.

~

\(2 'Find all absolute and relative maximum and minimum pomts fory=x3 - 3x +1
on [-2,3].

10. The base of a solid is the fegion enclosed by the graph of x j I x—\;y an ﬂae y-axe;s Nfall plﬁme €ross-

sectlb s pernendtpular to tfhe )ﬁq afe sen{mrcl%s WI‘K 1eters\1fr llel\to th y~ax1‘s then the volume is:
4 5%
A) 3 x@ x C)‘§\ 5 \\

ANSWERS: ,

(~1,7) abs and rel max, (2,~20) abs and rel min

(0,0) terrace, (3,~27) rel min, (0,0) and (2,-16) inf pts
inc: 0<x<lamdx>2 dec: x<0and1<x<2
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(1,~1) rel and abs min, (-1,3) rel max, (-2,~1) abs min, (3,19) abs max
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CALCULUS II - Worksheet #14
For problems 1- 3, find the intervals where the curve is increasing and decreasing, find and label all critical

points (tell whether they are rel max, rel min, or terrace points), and draw the curve on graph paper. Make
sure to show a first derivative chart.

\f(x) 3x2-3x +2

2. f(x) x3-x2-x

3. »f(x) 2x3 - 9x2 + 2

4

4, Thc function f(x) = x3 — 2x2 is increasing on which of the following interval(s)?

. 4 :
?\)x<00niy B)x>§only C)O<x<£ ‘D)yx<0orx>73 E)x<00rx>%

I
: §Gwen fix)=% 5 x5 - 2 7 57 x4, find where the relative extrema (critical points) of f™ (x) occur.

) 1 1 1 1
‘/A)x=0,“1"1‘2“ B)x=g *Ox=3; D)x=0,5 E)x=0,%

1 v
6. Ifg(x)= 5 13 — x|, then the value of the derivative of g(x) at x =3 is

l ;
A)—-'?: B)‘:,j C)0 D)3 <E)nonexistent
ue'of the fignction f(x) =xsin x on [ 17tH pr({;nixate

ANSWERS — Worksheet #14
15 : 1 1
i. G‘,:{) rel min, incx>3 , decx<§

. (1,-1) rel min, (:3“1‘ 5 %) rel max, incx<-13orx>1, dec-13<x<1

2
3. (0,2) rel max, (3,-25) rel min, incx<0orx>3, dec0<x<3
4.
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